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Special credit will be given for accuracy and relevance
in the answer. Marks will be deducted for incorrect
spelling, untidy work and illegible handwriting.
The weightage for each question has been
indicated in the margin.
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Answer any two questions :

a)

b)

d)

Answer any three questions :

a)

b)
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Discuss the causes and significance of the

Aristocratic Revolt in France.

Do you think that the Continental System,
Spanish ulcer and invasion of Russia
downfall

brought about  Napoleon's

cohesively ?

Evaluate the contributions of Mazzini,
Cavour and Garibaldi to the movement for
unification of Italy. Mention the limitations

of that movement.

Discuss the background of the rise of the
United States of America and Soviet Russia
in the post-World War-II World.

12 x 3 =36

Explain the background of the

establishment of the Paris Commune in

France. Why did the Paris Commune fail ?

How did Bismarck unify Germany through
the implementation of his 'blood and iron'

policy ?
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c) What kind of problems did the successor
states face after the disintegration of the old
empires ?

d) How far was the Washington Conference
able to establish peace in the Far East
region ?

e) Discuss the main principles of Fascism.

f) Explain the nature of the Palestinian Crisis.

3. Write short notes on or answer in brief any four

of the following :

6x4=24
Metternich and Metternich system.

Why did the Industrial Revolution occur

first in England ?

Utopian Socialism

New Diplomacy

The Great Depression (1929)
The Locarno Pact

The Long March

Neo-colonialism.
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